NIEDERFREQUENZVERSTARKER UND

RS 1003 MODULATOR sitans
AB-Betrieb ROHREN
2 Rohren in Gegentaktschaltung
u, = 1000 v
U 2 = 600 v
U§1 = -200 v
Ik = 260 mA
Iksp = 1,5 A
Q, = 60 w
ggl i 012 ‘\ANI
gt - ’ .
R_, = 50 kﬂ(bellg1 =0)
vk = 200 v
Ny~ = 0 60 0 130 0 160 w
Vv N
Ua = 425 800 1000 v
Ug2 = 425 425 425 v
Uy = -16,5 - -11,5 -18,5 v 1)
g 7~
Ugt-gls = ) 10,5 0 11,5 0 13 v
Ia = 2x50 2x130 2x50 2x130 2x40 2x130 mA
) = 2x5 2x24 2x4 2x23 2x3 2x21 mA
a = 2x21 2x25 2x40 2x40 2x40 2x50 w
Qg2 = 2x1 2x10  2x1,7 2x10  2x1,2 2x9 A
k = - 3 - 4 - 5 %
AN A\ AN
N/ Vv
Raa = 3,5 8 10 K

1) Fur Einstellung des Arbeitspunktes sind die angegebenen Strdme
mafgebend.
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